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Paper Codef = ATHEMATICS (Objective) Group -1
8193 Time: 30 Minutes Marks: 20 i?

You have four choices for each objective type question as A, B, Cand D. The choice which you think s correet, fill the

0O.No.J relevant circle in front of that guestion number on u)mpulermd answer sheet. Use marker or pen to fill the cireles
LQ

Cutting or filling two or more circles will result in zero marks in that question. Attempt as many questions s eiven in
objtclwc type question paper and leave other vircles blank,

Sl b Questions A B | SO | ﬂ_l)
The distance between two points | —
: 5 . 116 -06.2 Rl ¥
A(=-8.3).B(2,-1)1s: | l ( ! Y LE
- : ' e e
2 The line 2x — v - 4 = 0 cuts x-axis at point: |‘ 2.0 | (0.=2) \ (0.--) (.U
7 : _ . SER . : I! o | Interceplts l [;t_;l_l-slupc I l‘\\t'\-puirnh
3 The equation ol line = +=- - 1 1s: © Normal form ! : .
a b i ; form i form fonmn
4 | The perpendicular distance ol a line | 1 ! 13 ’ 7 s
i \ 7 = 5 A 0 ')' ..“. 1 T2 =N | ]
l XrSy-17 0 trc moriginis. l_i_ L_ 7 __L *__1_ i
3 The solution of the inequality 2x + v <2508 i (Il it ) E (2.1 | (221 IR
Ihe center of the cirele P o | 5 .
( i ; -1.3) | -1,-3 X (1.3) (R U AR O
s (y+3) =i [ \ | ( ) ;
e b Fo— — = = == =
7 The vertex of the parabola ¥ + 16x is: (0.,0) (1.0) | (0.1 (1.
[R— . . o . - - ! o -
1we end- 5 is :1lips : X .
" Ihe end-points of minor axis of an ellipse Foci warees | (overtices S
are called: . |
— _ ) i SRS
- - [ - - i
v k1= 2 = ] !
B i | ; S —
10 ‘a<b. caleulates the area ol | Triangle | Parallelogram | Tetrahedron Parallelopiped
: | : | S NS~
- e T - T o . I
, : : . | Constant ..t lmplicn Eaphant
| : J+xy +y = 2isalan ' - Y tio :
11 | The function x* + xy +y° = 2isa/an il function Even function  funetion N
—— : e =
Lo . i | y X oFN J NN
12 15 f(x)~ 2x - 8. then | Wx)=: i $--2x B+ 2x | - : —a"
d . 1 " ! : : « du
13 | i ) f'(uy f(dw) T AT Uiugdu
,dx (f(w) [ N da o
: dy : : : e |
14 Wy =cosha, then = = —smhy sinh 3 cosh x stihy
: dx l 7 B
A I Cans .
15 | —(tncosx)=: tan x cotx tan x coty
| R
| ] . A 2 1 -1 =1
16 | 73 is derivative of: sinh™!x cosh™ x tanh™ ' x coth™
PovxT -1 e s ¢ B -
ﬁ_?i\ 3 : H ( ]— )
17 ! I3 dt=: i P e 5 f
{ | ! 2 L s
S . . f
18 | ioxdx = ’ L ! (_'_.'l_)}l.. NN ST
| e I
1Y 3 : T LYo L meead e
fid—x2y 2(=2x)dx = : Dl sinr = V4 - L noaclb-n
fd=x )__( 77_.\) dx = | LR 2 3 S
' |
200 jeMeosx +sinx)dx = | edcoss | eVsinx SO FTIBN NS
|

e l o ST e
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Intermediate Part Sccond RollNo.
MATHEMATICS (Subjective)  Group -1
Time: 02:30 Hours Marks: 80
SECTION -1
Attempt any EIGHT parts:
(i) Define exponential function.
G fxy=2x+ 1, g(x)=x* =1, find g(f(x))
(iii) Prove the identity cosh?x + sinh”x = cosh 2x
(iv) Find by definition derivative of — ]—a
iv) Differentiate —(-\—-,—tli w.rt. X
x =1
(vir Find %b) making suitable substitution if’ y = \/x +Vx
. d I
(Vi) Prove that Fr = (cos™! \[I——\l-
(viii) Differentiate sin’x w.r.t. cos’s
(ix)  Find L4 ify=e?2 sin2x
dx
in o Fid vty =il w + g
X
(xi)  Apply the Maclaurin series, prove et =1+2x+2x7+.....
(xnii) Determine the interval in which fis increasing or decreasing it f(x)=4- x?, xe(=2.2)

Attempt any EIGHT parts:
(i) Find 8y and dy of function f(x) =

(i) Using differential find

dx
{m)  Lvaluate Il.\ +1)(x -3)dx

if xy-fnx=¢

vy Bvaluate IT \}— l; dx
X (VX +
! . LTS
| +cosx d‘\'( 2<'\

vy Lvaluate -[4 & =
+X°

(v)  Evaluate j

A

3)

dx

(vin) bvaluate |xinx dx

(i) Fvaluate [xsin s dx

3
tix)  Evaluate j (x3+3x2)dx
-1

3
(n) E\'alu:ucj 5
o X°F
(xi)  Define objective function.

(x1i) Graph the solution set of linear inequality 2x +y <6

x> when x=2and dx = 0.01

( Continued P20

10



T

Objective
+ Paper Code

8196

Intermediate Part Second

MATHEMATICS ( Objective ) Group — 11
Time: 30 Minutes

You have four choices for each objective type question as A, B, Cand D. Thec

Marks: 20

oig:___{i?-
3¢

hoice which you think is correct, fill the

Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles,
© 7" Cutting or filling two or more circles will resulf in zero marks in that question. Attempt as many questions as given in
objective type question paper and leave other circles blank.
| S.H | Questions - A B € i D
I | The position vector of any point in xy-plane is: Xi+yj+zk yj+zh XI+yj i Xzl
' : ; 1 -
) 2 3 ivk = =l | | ' J 0
“ ..... T Gy T el i ;'
3 The two separate parts of hyperbola are called: i Foci . Vertices Directrices  Branches
o L i
4 | The latus rectum of the parabola y* = - dax is: =4 X=-a S R
! e U B
= | Twocircles are said to be concentric circles if . . Different 1 Same
A i Same radius I Same center
they have: ; | center ;  diameter
$ T - 1 4 i S
‘ 6 (1.0}isnot the solution of the inequaliy - P K=-39<0 In+2y<8 | 345y <T | dn-3y ey
-t - SNSRI SN ST, S
. . ; o | x ¥y X,y | x ¥ X N
7 | Intercept form of equation of a line is: -2 =0 —+==0 | =-Z=4 5 2l
! P 9 | a b a b ''a b a b
T - i B S —
.8 % Distance of the point (-2, 3 ) from y-axis is: 2 -2 3 -3
1 —_
9 1 Slope of the line parallel to x-axis is: Undefined 1 0 ]
axis L LR P
——— . : el 4 r
T'he lines through origin represented by
‘ 2 2 2
r . . S 1 4eab=0 h"-ab>0 W~ ~ab- 0
: | ax? + 2hxy + by’ =0 are coincident if: i = )\"b ,
I - —_——— -
| b g
11 _flan X sec’xdx =: tanx +c¢ secix +c¢ secx+e —I‘": - MT
-] s C{——
1
| n T :‘[ n
12 | |-——=dx=: s 2= hiid
. i jl-r N 3 4 2 i 6
P = = T
o ] iy = . , N - :
13 JL sinh x4 5 J X ¢ cosh X ¢ cos X e sinh a ¢
Q | b+ x° : _
] 52 I
' e : b - 0
14 i J‘\ dx mx+c 3 X |
| o | — =
d =i | 3 | | J
15 | — X)=: ! 2
§ 3 ol Sl I+ 3x 1+3x I +9x° I+9x
16 i(es'"\): COS X e cosx e Ysiny s
| dx -
| -1 -l A
17 | If y=/nx then y,=: - - | 7 3
: X X N
|~ . B T ] : dr
18 The nota‘tlon used for derivative of f(x) by Df(x) f(x) f(x) 5 .
: Cauchy is: N o _ o ! X
i . ! 2n - | ]
) i fh
19 | Lim (I +_) _ o o2 o e .
| N =+ n - _;
i - ' i 2N I -2 \ \ N L
=\ - - a = 4+ 0 & 8
20 | Cosh 2x = : M £ ,_)L — = :L | E -1':-‘— i 2
] 74 | ol n | £ ok R
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Intermediate Part Second

MATHEMATICS ( Subjective )

Group - I1

Time: 02:30 Hours Marks: 80

Roll No.

SECTION -1
-. Attempt any EIGHT parts:
(1) Define implicit function.
(i)  Prove the identity sech®x =1—tanh®x

.
. Lim  ex -] ’
(m) Find e e x>0
ev +1
() II'_\=.\“‘+2x3+2,provethal%zdx Jvy-I
- , : 2x -3
- fferent L ==
(v} Differentiate w.r.t. xif y 7]
(viy  Differentiate .\'Z—L1 w.rt x7
52
(vit) Prove that i(sitf’ X) = l
dx [l
(viii) Find Ay, ify=xcosy
dx -
(ix)  Differentiate y:a"ﬁ‘
(x)  Find % if'y = £n (tanh x)

(xi)  Define point of inflexion of a function.

(xii) Determine f(x) = sin X is increasing or decreasing in the interval (0 i

3 Attempt any EIGHT parts:
(1)  Find 8y anddy in y = V'x . when x changes from 4 to 4.41

(1) Evaluate Isinzx dx

_ X

(1) Integrate by substitution dx
b Id4 + x4
V2

SINX +Cos X
(v)  Evaluate the integral by parts _[fnx dx

tv)  Find the integral J

{vi) Find indefinite integral I\,—:-— dx by substitution
TR
a‘—x

pr

(vii) Evaluate '[—,“5-7 dx . x>a by partial fraction
Xx-—a-

(vii) What is the definition of definite integral?

(ix) Calculate the integral -.[I x-3|dx

1
{x) Define order of a differential equation.
(xi)  What do you know about half planes?
(xi1) Graph the linear inequality 2x + 3 >0

(\ /r
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